ASSEMBLY INSTRUCTIONS
SKU: WF198285AAB

Y AVANSAVAY/}
\VAYAY

1/7




Part List

@ x1Pc
lec @ x1Pc . x2Pcs @ x2Pcs @ X1Pc
1D x1Pc 12 x1Pc 13 x1Pc x1Pc 15 x2Pcs
. x3Pcs @ x2Pcs . x1Pc
Hardware List
S
& -
M;SO M6x35 M6x30 M6x25 M6
Ax4Pcs Bx16Pcs Cx44Pcs Dx4Pcs Ex8Pcs Fx4Pcs
Gx1Pc

PLEASE BE CAREFUL. DO NOT DAMAGE THE HOLE
POSITION WHEN YOU USE POWER TOOLS !

217




Step 1 @%
S Exfl;/llics
@ | G
Step 2
Bxdbes
G

3/7




Step 3

R
\ M(;<35
A I Gx1Pc Bx4Pcs
\ ®
@ |

Step 4 P~
M(;<35
Gx1Pc Bx2Pcs

4/7




O

M6x30
Cx14Pcs

Gx1Pc

{

@

M6x30
Cx20Pcs

Gx1Pc

Step 5

Step 6

/%/M\/(\/\/
VAVAVAAVAN §

5/7




o

@

Cx8Pcs

Lo
(%]

@ 3

Bx6Pcs

{

Gx1Pc

{

Gx1Pc

Step 7

Step 8

\WAVAWAVA

\

TN

Z

S 4

,
X
=
\
j
\
;
\
/
j
\
j
/
j
\
j

6/7




o

@

M6x25

Dx4Pcs

8
@w |5 ? ®

&
o

o

Qo B g

S| X

<

Gx1Pc

Fx4Pcs

VAVAVAAVAV 4

Step 9

\VAVAWAVAN

Step 10

/Nx/\/

A\

)/ VARVAREY 4

L/

AM_NJ

/MZ/\

/7




	285AAT 组装图 Model (1)
	285AAT 组装图 Model (1)
	285AAT 组装图 Model (1)
	285AAT 组装图 Model (1)
	285AAT 组装图 Model (1)
	285AAT 组装图 Model (1)
	285AAT 组装图 Model (1)

